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AT H B Rk264E9 A 24 A

FHTH AR ] VUSES JE\[F] Kl HWE  pH KR %y DO DO PO,~P COD  KRIBEREE KA,
(m) &) EE (m) (C) (mg/L) (%) (ug/L) (mg/L) MPN/100ml

St.1 8:51 0 - i 12.0 8.3 20.8 33.62 7.5 98. 2 0.0 0.0 0.0 0.2 T4-bv3

E= 5 - 4 8.3 20.7 33.61 7.4 96. 9 0.0 3.9 0.1 ) 0.0

10 8.3 20.7 33.61 7.4 96. 8 0.0 4.1 0.1 1.2 0.2

(27. 5m) B-1 8.3 20.2 33.76 1.2 93. 0 0.1 4.8 3.8 10. 1 0.2
St.2 8:31 0 - I 11.5 8.2 20.8 33.58 7.3 96. 0 0.0 4.6 0.3 2.1 0.0 7=V 5

TR 5 - 3 8.2 20.7 33.58 7.3 95.9 0.0 5.4 0.3 2.0 0.0

10 8.2 20.7 33.57 7.3 95.9 0.0 5.6 0.4 2.7 0.0

(25m) B-1 8.0 17.8 33.79 3.7 45,7 64. 4 141.4  37.4 79. 2 0.0
St.3 9:32 0 E 5 9.5 8.3 20.7 33.42 7.4 96. 7 0.0 6.3 0.2 2.0 0.3 7=V V4

b Iy 2.5 1 4 8.3 20.6 33.41 7.6 98.7 0.0 1.9 0.2 1.3 —

5 8.3 20.5 33.44 7.5 97.5 0.0 3.2 0.2 1.5 0.2

10 8.3 20.5 33.51 7.2 93. 4 0.0 3.8 1.0 2.2 0.3

(25m) B-1 8. 2 20.2 33.59 6.2 80. 6 9.8 16.9  14.8 18. 3 0.2
St.4 9:12 0 E IS 11.0 8.3 20.8 33.55 7.4 97. 4 0.0 3.5 0.1 1.9 0.2 7=V 4

TEAR 2.5 1 4 8.3 20.6 33.55 7.4 97. 1 0.0 3.4 0.3 2.5 -

5 8.3 20.6 33.56 7.4 97. 1 0.0 3.5 0.1 1.5 0.3

10 8.3 20.6 33.57 7.4 97. 1 0.0 3.1 0.2 1.7 0.3

(22m) B-1 8.3 20.4 33.66 7.2 93. 8 0.0 5.5 1.9 6.7 0.2
St.5 10:49 0 E = 5.0 8.2 20.7 33.35 7.2 94. 2 0.3 4.8 1.1 1.7 0.0 7=V V4

K 2.5 1 9 8.3 20.6 33.46 7.2 94. 4 1.1 5.4 1.0 0.4 -

5 8.3 20.5 33.50 7.2 93. 4 1.2 5.7 1.0 1.5 0.0

(8m) B-1 8.3 20.5 33.57 6.9 90. 2 2.3 8.3 1.8 3.7 0.0
St.6 10:12 0 E = 5.5 8.2 20.6 33.23 7.3 95. 4 2.8 3.7 0.6 1.2 0.0 74—V 4

A HIERTHI 1 1 8 8.3 20.6 33.26 7.2 94. 4 2.9 4,1 0.7 0.7 0.0

5 8.3 20.5 33.30 7.3 95. 3 1.0 2.5 0.6 1.2 0.0

(7m) B-1 8. 2 20.6 33.51 5.9 76. 8 11.7 11. 1 4.6 9.5 0.0
St.7 11:01 0 NE = 3.5 8.3 20.6 33.30 7.2 93.7 6.8 5.6 1.2 6.1 0.2 7=V I5

i 1 1 8 8.3 20.6 33.33 7.3 95.5 4.4 4.0 1.0 1.1 0.3

5 8.2 20.5 33.48 6.5 85. 0 9.4 10. 1 2.9 5.6 0.2

(6.5m) B-1 8. 2 20.5 33.51 6.1 79. 8 13.4 15. 1 4.8 7.7 0.0
St.8 9:47 0 NE IS 8.5 8.3 20.5 33.40 7.5 97.6 0.0 5.0 0.1 2.2 0.6 74—V V5

S 2.5 1 6 8.3 20.5 33.40 7.6 98.5 0.0 2.8 0.2 1.0 -

5 8.3 20.4 33.44 7.3 95. 3 0.0 2.6 0.4 1.5 0.3

10 8.3 20.5 33.58 7.5 97.7 0.0 2.8 0.3 1.1 0.3

(20m) B-1 8. 2 20.1 33.56 5.3 69. 1 23. 8 41.4  17.0 25. 1 0.6
St.9 9:59 0 NE = 8.0 8. 2 20.5 33.37 7.3 94. 4 0.0 2.9 0.4 1.2 0.5 7=V V4

FARX Yo7 2.5 1 7 8.3 20.5 33.39 7.3 95. 5 1.7 4,3 0.4 1.1 -

5 8.3 20.5 33.45 7.4 96. 7 0.2 3.3 0.4 1.4 0.6

10 8.3 20.5 33.55 7.2 93.5 0.0 4.3 0.9 1.1 0.5

(20m) B-1 8. 2 20.2  33.52 6.0 77.6 14. 8 20.5 12.3 17.6 0.0
17 (A) 10:23 0 NE = 4.5 8.2 20.8 33.31 6.0 79. 1 9.5 10. 1 2.6 8.5 0.2 73—V

5 1 9 - - - - - - - - - -

(5.3m) B-1 8. 2 20.6 33.36 5.5 71. 4 16. 6 18.0 4.9 12.5 0.2
K (B) 10:36 0 NE = 8.0 8.2 20.6 33.33 7.4 96. 6 0.5 5.0 0.5 1.4 0.2 74=VIV5

5 1 9 8.3 20.6 33.51 7.3 95.5 0.0 3.4 0.3 1.0 0.0

(12m) B-1 8. 2 20.3 33.55 6.4 83. 8 6.5 11.2 6.5 7.5 0.3




